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[TpeoOpazoBaHue MPOIEHTOB B IECSITUYHBIC YMCIIA

Nwms:

0,38 =

0,24 =

0,08 =

0,54 =

0,77 =

1,52 =

0,12 =

1,03 =

1,82 =

%o

%o

%

%o

%o

%o

%

%o

Jara:_______ Ouemka:___
I, 11 = %
0,55 = %
1,03 = %
1,13 = %
1,58 = %
0,28 = %
0,11 = %
0,04 = %
0,11 = %
1,9= %
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\é\ 5\4 %% E é [TpeoOpazoBaHue MPOIEHTOB B IECTUYHBIE YMCIIA
N

Ums: Jlata: _ Orenka:
0,38 = 38% 1,11 =111%
0,24 = 24% 0,55 = 55%
0,08 = 8% 1,03 = 103%
0,44 = 44% 1,13 =113%
0, 54 = 54% 1,58 = 158%
0,77 = 77% 0,28 = 28%
1,52 = 152% 0,11=11%
0,12 = 12% 0,04 = 4%
1,03 = 103% 0,11=11%
1,82 = 182% 1,9 =190%
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